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T4 | ST6EEEE1 8 5 B /IMABMIKSMEEY T %
TEHEX Sy - THE - R B {7 % & A bl A iR
B A& =X 1 29, 090, 762
HE L = 1 679, 321
HRHEI T =X 1 75,328 | #iEH! 220 m3
+4)
BEARRE AT = 1 6,209 | B (FELR) X+ 0.9 m3
2. 5mATH
BRE LT =X 1 140, 140 | B 20 m3
2. 5mATH
P v T = 1 457, 644
EEEET = 1 10, 029, 335
EhLL R T = 1 51,975 | F@i&kas)—} 15 m2
Rz ki = VR
2/9)-h (1%) Mt=109mm ;
Fa T Rh 7K T = 1 83,109 |#&mRL/K 21 m2
(3B D)
BIERBAK ;
LTl Tapiie 15 m2
(HRER)
BRI ;
BN = T 2y 1 3,114,420 | GIHIF-~" 14 600 m2
GHIMt=100mm (&) : FFA R EE As (20) t=50mm,
F B ki FEAs (20) t=50mm) ;
s (& B A 60 m3
TRV NEIEIE
By 60 m3
TA77 VM EIEIE
BN = T 2y 1 2,261,667 |GIHIF-N -1( 757 m2
BIHIMt=25mm (3% & : %5k FEAs (20) t=50mm) ;
s (R B A 19 m3
7377V M EIEIE
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Vol =
FER N E
TESL | AMEEEEE 1 8 5B/ MAF KA EY) T
TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! R
RISy 19 m3
TA77VMIEIE
TA7 7 M2 T = 1 2,723,271 | Pl (HiE - BEE) 331 m2
RC-40 t=200mm ;
TR s (BE - BRI 56 m2
RC-40 t=200mm ;
R (HEGE - BRI ) 331 m2
FAASZEEALE (20) t=50mm ;
R (HEE - BRI ) 56 m2
FAASZEEALE (20) t=50mm ;
g (I - BRIF ) 331 m2
FAHRLEAS (20) t=50mm ;
g (I - BRIF ) 56 m2
FAHRLEAS (20) t=50mm ;
g (I - BIF ) 387 m2
BRI As (20) t=50mm ;
TA7 7 M2 T = 1 175,560 |FE (i - ) 55 m2
BRI As (20) t=50mm ;
TA7 7 M2 T = 1 269, 823 | T/EKM (FEE - KT EH) 53 m2
RC-40 t=250mm ;
g (I - BIF ) 53 m2
FAHRLEAS (20) t=50mm ;
g (I - BIF ) 53 m2
BRI As (20) t=50mm ;
TA7 7 M2 T = 1 151,658 | Nk (FHE - BEE) 52 m2
RC-40 t=150mm ;
g (I - BIF ) 52 m2
BRI As (20) t=50mm ;
TAT 7 M T 2 1 271,929 | b (FHaE - BEH ) 161 m2
FAHLKLEAs (20) Mt=10mm ;
TAT 7 M T 2 1 75,873 | FbE (HaE - B ) 21 m2
FAMRKEASSE 14 (20) t=40mm ;
g (I - BIF ) 21 m2
FORLEEASHUEL 1 78 (20) t=40mm ;

-2 - [E-Amd T ET R




S B2 VR RS [y T 22 S5 T — N

Vol =
FER N E
T4 | ST6EEEE1 8 5 B /IMABMIKSMEEY T %
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
TAT 7 Mg T = 1 34,005 | ZJE HREER) 15 m2
FAEBRIEEAs (13) t=40mm ;
BT = 1 516,074 |74V-Jg 134 m2
AR t=50mm ;
T B GRE ) 134 m2
RC-30 t=100mm ;
3] 134 m2
F/KMEAs (13) t=40mm ;
BKPEEEE T 2 1 299,971 |74y 70 n2
AR t=50mm ;
T B GRE ) 70 m2
RC-40 t=150mm ;
3] 70 m2
F/kMEAs (13)  t=50mm ;
HEKHEEY T = 1 4,726, 008
e+ T 2 1 360, 986
AR T = 1 2,049, 850 | [ FHAJBLHITE 38 m
1 5B H A%
H 2B RS 37 m
25 A HAEAE
illes= 2 r5e
AT VA
T-25 300 X500/ 110° BHEA= I B & VMEE
R T =0 1 251,710 | WEBRHEAKE & m
1 5B
B -MefTE 15 m
CP-PH-D300
AR v T 2 1 1,219,000 |BUGFT B HTIREME 1 (£
IREREapy
BT O R 1 (£
2515 I
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Vol =
FER N E
T4 | ST6EEEE1 8 5 B /IMABMIKSMEEY T %
TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! R
BUGHT B IR 1 (£
ST E I
BT B IR 2 (£
451 I
= 1 r5e
AT VA
T-6 #E/X500X 500/ W H & VEE ;
= 2 r5e
AT VA
T-25 HE7T800 X 800/ 110° BARAZL W H & wh
[EE ;
= 2 r5e
AT VA
T-20 #7800 X800/ I H & WhEE ;
WATFTKEE T = 1 844, 462 | 15 UHRAITE 0.7 m
L ARE R AR 44 m
oL 2 1 2,184, 520
e L = 1 2,184,520 |HRELEEERT 1y 50 m
BB-2-3 (200)
HRHLERE R T ny) 33 m
LB ARHEEE R T vy
HRHLERE R T ny) 20 m
2B HREIEBE N 1y
HRHGEBESN T vy 65 m
SEHAREIEBE N 1y
HRHGEBESN T vy 3 m
4 EHRETEBE T 1y
HRHLERE R T ny) 0.6 m
SEAREIEBE N 1y
HRHGEBESN T vy 5 m
6B HARELIEBE N 1y
SRR T ny) 85 m
1 5 HISEBE ST 0y
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TS | SM6EEEE 1 8 5 B/ MAFHIX A EY T.9

TEHEX Sy - THE - R B {7 % & # il pall 2! R
Bh AT L 2 33, 660
PEANIBA AT L =X 33,660 |h =} by 2 m
Gr-C-2B
¥ =07 90y
X JEj R L =X 452, 436
X TR L X 452,436 | PR R 450 m
Hf FERE W=15cm JE1. Smm ;
e il = X R 14 m
H R W=15cm JE1. Smm ;
e il = X R 94 m
H il W=30cm JE1. 5mm ;
e il = X R 150 m
M 777 W=45cm JE1. 5mm ;
e il = X R 92 m
M K- e 30 W=15cm¥fis JE1. Smn ;
HEAT B MR T = 399, 570
EATEY L = 399,570 |1 E-#&jgav7)-} 5 m
By A 17 %N
A2 LA ¢ 80 H=650 15 ELE ¢ 200 ;
it T A s i 2 1
TEHRE 92 T 2 5, 143, 800
e+ T 2 66, 590
B L (F ) =X 4,092,810 |HEFRAE I 13 m
A-2047° (H5)
R 13 m
A-2547" (#h5%)
TR 1 m
E-1447" (EL%)
iﬁﬁ?&%% 7 m
-5 - E hAimE  EHT A
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Vol =
FER N E
TH4 | SF6FEEEE 1 8 5 H/MARM X MiiEY L&
TSy « TfE - FER B {7 ¥ & & # A bl A B
E-1447" (%)
R 4 m
E-2447" (EL%)
N VT = 1 984, 400 |~/ N H- 2 =5
IR AN
EEET 2 1 135, 980
T FTHERE T (&4 BT X 1 135,980 | B ) ¥k 2 m3
GW24
e p =/ = 1 1, 695, 400
(i T = 1 1,695,400 |HEFZY a{v} 20 m
W
HEE L = 1 881, 132
e LT it 1 557,880 |2/ -MEEEE L 81 m3
HERTHEED)
ERZE IR 51 m
TAT7VMEREERR t=15emPLF
T LE RS A 280 m2
TAT7VMERSERR t=15emPLF
PR EY L T = 1 15,315 | EAZ 52 e
VA VA
ESIRES 11 e
SRR S
TR AL T = 1 307,937 | &iEdk 31 m3
av ) -bik (BER5)
o 1 16 m3
TAT 7V
By 31 m3
av ) -bik (BER5)
By 16 m3
TAT 7V
L5 A 1 =
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R PERE
TS | A6 EEEE 1 8 5 5/ MAFM X AMEEEY 5
THEXSy - THE - FE5 H7 & & # i Gl 2 N
Ve ZAE N
% L =X 1 2, 729, 600
AR BT =X 1 2, 729, 600
[P % 2V 1 29, 090, 762
Hm R E20 1 4, 938, 420
e Tre: X 1 656, 420
R E20 1 150, 240 | FRER IR 2 1 =,
Bl s 2V 1 143, 180 | PR MR FaAT I ERE H 1 =
B TR SE R X % O VR 1 X
BUGBREIUEL (REH L) 2V 1 363, 000
sty (R L) 2V 1 4, 282, 000
ol T 2V 1 34, 029, 182
TR e gL E20 1 12, 310, 000
T AT 2V 1 72, 886, 957
— i PR E20 1 12, 753, 043
N E20 1 85, 640, 000
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s foAs =
FEAENGRE
TS | SM6EEEE 1 8 5 B/ MAFHIX A EY T.9
TEHX4y « Tfd - FER B Az W B & #A i il A BN
JE O R 2 1 16, 526, 775
EHET = 1 927, 207
A T Y 1 128,420 | #@HI 60 m3
+4)
R ESER 50 m3
+rb G- ERIRY L&)
AR LT Y 1 459, 495 | BRI (BEER) BE 1 60 m3
2. bmATH ;
EuNE R 50 m3
2. 5mPL 4. OmARTi ;
R T Y 1 210,210 |BEEE+ 30 m3
2. bmATH ;
EHEER T Y 1 129,082 |{EmEZEETE (B30 130 m2
+4)
eIk A ) 10 m2
EE T Y 1 38, 000
WA T = 1 38,000 | FE+HAm 100 m2
WiERE T = 1 431, 121
(== Y 1 60, 821
AT T HREE T (159 HAL) = 1 370, 300 | H )= ek 5 m3
CW-3-2
AN =L = 1 9, 660, 900
(== Y 1 650, 100
7 VERAMIIA =} L = 1 9,010,800 |7° VE+AME v/A 36 m
1&R 9) A =h
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s foAs =
FEAENGRE
TS | SM6EEEE 1 8 5 B/ MAFHIX A EY T.9
TEHX4y « Tfd - FER B Az W B & #A i il A BN
HEKHEY) T = 1 203, 167
(== = 1 34, 817
BT B0 1 168, 350 | ta—hF (BIKA) g m
P1-RC1-D500
Ak T Y 1 516, 606
TAT 7 MEREE T Y 1 359, 076 | T )& i (e al) 120 m2
RC-30 t=100mm ;
=@ (HHEE) 49 m2
HABRIEEAs (13) t=40mm ;
=@ (HHEE) 71 m2
HABRIEEAs (13) t=40mm ;
TAT 7 Mg T Y 1 79,950 | B R REER) 26 m2
RC-40 t=150mm ;
=@ (HHEE) 26 m2
HAZRIEEAs (20) t=50mm ;
TA7 7 Mg T Y 1 77,580 | T B R REER) 20 m2
RC-40 t=150mm ;
=@ (HHEE) 20 m2
HAZRIEEAs (20) t=50mm ;
oL Y 1 729, 138
(== Y 1 45, 507
AL = 1 683,631 |HISEHEHR T ny) 117 m
LS HSEE R T ny)
BT T = 1 76, 260
o5 (- A T 2 1 76,260 | H&¥ (RAWT) B5 - 6 m
P H=1. Im PR CotiA/H STALRIFRE3m 4 -/
790

-9 - E bzl P E IR




I Job W SRS o T 22 ST/ A SR A

== /oA =
FEHE NGERE
TS | SM6EEEE 1 8 5 B/ MAFHIX A EY T.9
TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
X R T = 1 16, 560
X R T 2 1 16, 560 | ¥l = R R 45 m
Ff 38 W=15cm JE1. 5mm ;
TE AT R itk T Y 1 468, 291
B EY T Y 1 468,291 | &V 2v))-}h 139 m2
15 BhELa/)) -}
HEYE T Y 1 729, 925
e LT it 1 495,813 | 3v7)-MHEXE YU L 36 m3
HEATAEEY)
ELERR O W 65 m
TAT7VMEREERR t=15emPLF
A IR A 77 m2
TAT7VMERSERR t=15emPLF
TE LB T =Y 1 234,112 | BoE M 36 m3
/)Y - hik (AT
R IR 4 m3
TAT7IV NS
RISy 36 m3
)= hik (AT
RISy 4 m3
TAT7IV NS
A Y 1 2,729, 600
B EHT = 1 2,729, 600
[ERANE Xy = 1 16, 526, 775
HiE 2 1 2, 798, 000
BISTI S = 1 232, 000
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R PERE
TS | A6 EEEE 1 8 5 5/ MAFM X AMEEEY 5
THEXSy - THE - FE5 H7 & & # i Gl 2 N

BUGBREIUEL (REH L) 2V 1 232, 000
sty (R L) 2V 1 2, 566, 000
ol T 2V 1 19, 324, 775
e R E20 1 7, 223, 000
T AT 2V 1 26, 547, 775

- 11 - E bzl P E IR




